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Seth | pages 451-456

\ fraction can be written as the product of a
vhole number.and a unit fraction. Consider
he model showﬂi@!@w :

‘ach fraction strip represents the unit .
raction %.

‘here are 5 fraction strips in all.

0, the model represents 5 X %, or %

- Bemernber a unit fraction

has a numerator of 1.

I Write a multlphcatlon equa’non with a umt
. fraction that describes’ the fraction shown. |
i Use fractlon stnps 1o help. :

SetB | pages 457462, 463-468

ind % of 6.

Ine Way Another Way
;of 6is 2, Multiply first and
S then divide.

+is twice as much 5 1

5%, §X6=75=4

0, % of 6 is 4.

Flnd each product Slmpllfy if pDSSib]e

Rermember that the word of often means
to multlply

@4 5= ﬁ”“ 2@.40“6 §§m
()24><m % (853028 |

7
6. g X 219

SetC pages 469-474

\ 4-foot board is cut into pieces that are

:foot in length, How many pieces are there?

angth of ' 4 feet
ward — | g

X pleces

Remember that you can draw a picture or
use objects such as fraction strips to help you
understnd the problem.
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‘here are 8 pieces.




D | pages 475-480, 481-486

. 1.
Ftndjf 4.

Use multiplication.

Multiply by the reciprocal of the divisor.

1,11
7T 4=5 Xy

1
8

Y

Remember,
~ you can use ohjects or a
number line to he[p you

divide.

Remember that to write the reciprocal
of a fraction, switch the numerator and
denominator,

" Find each qudtient.
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juice left. He ¥ £qual amounts of

the leftover juice fof two servings, What

fraction of the whol€Zarton of juice did
he use for each serving? .

SetE |pages 487-492

Helen has $97 in quarters and half-dollars
combined. She has $13 in quarters, How

many half-dollars does she have?

What is the hidden question or questions?

How much does Helen have in half-dollars? &5

597

70

Remember to answer the hidden question ol
questions first.

1a(ity walk. She raised
5 phile that she walked. The
11 miles. The secon:
day, she walked 14 fffés. How much
e @~  money did Ana ralse?

$13 ?

25® #72.50

$97 — $13 = $84

How many% dollars are in $847
584

i d
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value of one half-dollar coin
$84 + 3 =84 x = 168

Helen has 168 half-dollars.

496

2. InPrblem 1, write and solve any hidden
question or questitns “that you need to

ansyerfi r*s%\,%
L -,

carton of j mce fo

milk for$2.89. h
usmg the
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. Ifthe diameter of a tree trunk is
growing z Linch each year, how many
years will it take for the diametter to
grow 8 inches?

A 2yea ;}K

.‘.\ &
£

B Byears

€ 24 years~
D 32 /y,e‘iivrs

2. Samantha wrote three products
equal to £ Which of the following did
she NOT write?

A g >81
7 ' Y
B £ X 1\
\3 P o
€ 7 X g A\ ) e
_1_ u. f"ff‘
&’ﬁ

3.} Mrs. Websteryants
of milk intg 3-gint-size Servings.
many servings will she have?

. S g,

4. One-half of a cantaloupe
was shared equally among
3 people. What fraction of
the ‘whole cantaloupe did
each person get?
A é canté»!oupe
B ; ca ntaloupe

C
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D 5c fn’taloupe
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@aven is making piliows. ---- ‘
equnre ard of fabric. Ravén has

offabric. Use the model to find
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A Lpillow . L
30
B zpillows f
_C 11 pillows
. D 30 pillows

number of pillows Raven can make

6. A farmer owng 24 ;
to ucresfor an entrance mto the
farme.and,d

B 72lots
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feach day sleeping.
of days that

7.) Jason spend
What is thto aI humb
Jason spendsfa akel

10.; Which number sentence is represented
—, by the model that Jesse drew?

. Three-quarters of a veggie pizza is left
riah, Nick, and Kathryn are

over,

sharingithe leftover pizza equaHf/ What
fraction ofthe orlgmal plzzé does each
person get?

o

9. Tracy took a quiz containing 12 items.
If she answered % of the items correctly,
how many items did she answer

correc\l;\/?
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12. The Marks family has two orchards.

C % pizza

\I\) Not here

The orchard by the river is 6 acres in size
The orchard on the hill is 9 acres in size.
if% 2 of the river orchard has apple trees
and 5 of the hill orchard has apple trees,
ho {\nany total acres are planted with

appie\tﬁees?
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